Проанализировать эффективность размещения еврооблигации СПб (NPV и IRC) в 1997-2003 гг. 
	So (1997) =
	5,56
	Rur/$
	
	
	
	
	
	

	Fo ($) =
	300
	mln $
	
	
	
	
	
	

	I (Rur) =
	30
	%
	
	
	
	
	
	

	I ($) =
	10
	%
	
	
	
	
	
	

	n =
	5
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	$300,00
	-$30,00
	-$30,00
	-$30,00
	-$30,00
	-$330,00
	
	
	

	 
	
	
	
	
	 
	
	
	

	TP ($) =
	-$150,00
	
	
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	DCF
	
	I ($) = 10%
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	$300,00
	-$27,27
	-$24,79
	-$22,54
	-$20,49
	-$204,90
	
	
	

	 
	
	
	
	
	 
	
	
	

	NPV ($) = 
	$0,00
	 
	 
	 
	 
	 =>
	IRC = 10 %

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	1 668,00р.
	-500,40р.
	-500,40р.
	-500,40р.
	-500,40р.
	-2 168,40р.
	
	
	

	 
	
	
	
	
	 
	
	
	

	TP (Rur) =
	-2 502,00р.
	
	
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	5,56
	5,96
	20,65
	27,00
	28,16
	30,14
	
	
	

	 
	
	
	
	
	 
	
	
	

	$300,00
	-$83,96
	-$24,23
	-$18,53
	-$17,77
	-$71,94
	
	
	

	 
	
	
	
	
	 
	
	
	

	TP (Rur($)) =
	$83,56
	
	
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	DCF
	
	I ($) = 10%
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	$300,00
	-$76,33
	-$20,03
	-$13,92
	-$12,14
	-$44,67
	
	
	

	 
	
	
	
	
	 
	
	
	

	NPV (Rur($)) =
	$132,91
	 
	 
	 
	 
	
	
	

	
	
	
	
	
	
	
	
	

	IRC - ?
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	Пусть I ($) = 
	-10,23
	%
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	1 668,00р.
	-500,40р.
	-500,40р.
	-500,40р.
	-500,40р.
	-2 168,40р.
	
	
	

	 
	
	
	
	
	 
	
	
	

	TP (Rur) =
	-2 502,00р.
	
	
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	5,56
	5,96
	20,65
	27,00
	28,16
	30,14
	
	
	

	 
	
	
	
	
	 
	
	
	

	$300,00
	-$83,96
	-$24,23
	-$18,53
	-$17,77
	-$71,94
	
	
	

	 
	
	
	
	
	 
	
	
	

	TP (Rur($)) =
	$83,56
	
	
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	DCF
	
	I ($) = 10%
	
	 
	
	
	

	 
	
	
	
	
	 
	
	
	

	$300,00
	-$93,53
	-$30,07
	-$25,62
	-$27,36
	-$123,41
	
	
	

	 
	
	
	
	
	 
	
	
	

	NPV (Rur($)) =
	$0,01
	 
	 
	 
	 
	 =>
	IRC = -10,23 %


